Hassleholms BK
Seniorbridge 2019-10-07

Partavling, 10 bord, 20 par. Antal brickor: 26. Medel: 234.0.

Plac Par Poéng % Namn MID Klubb
1 4 278  59.40 Inger Nyberg - Ann-Christin Andersson 59587 59583 Hassleholms BK
1 16 278 59.40 Gert Ekstrand - Lars-Olle Pettersson 45384 33340 Hassleholms BK
3 18 273  58.33 Leif Claessson - Yvonne Claesson 66002 66003 Hassleholms BK
4 20 265 56.62 Ulla Evertsson - Rolf Evertsson 27279 27280 Hassleholms BK
5 7 261 55.77 Bengt Linder - Anna-Lena Melin Linder 13228 10869 Hassleholms BK
6 19 254  54.27 Gudrun Boman - Solveig Wahlstrom 91855 6821 Hassleholms BK
7 14 250 53.42 Sverker Andersson - Karl-Inge Akesson 83587 63537 Vinslovs BK
8 17 244  52.14 Britt Holmberg - Ingalill Nilsson 59590 17324 Héassleholms BK
9 2 238 50.85 Lena Grevesmiihl Ravik - Heléne Roth 52721 61092 Hassleholms BK - Hassleholms Dambridgeklubb
10 1 236  50.43 Allan Nyberg - Olof Westerdahl 66005 66004 Hassleholms BK
10 5 236 50.43 Evalena Nilsson - Majvi Adamsson 36375 30616 Hassleholms BK
12 8 235 50.21 Monica Mattson - Eva Berlin 92102 30604 Hassleholms BK
13 15 229  48.93 Ingrid Hansson - Kristina Kristell 36366 36373 Hassleholms BK
14 6 227  48.50 Karin Bettini - Arne Hadin 88917 78277 Hassleholms BK
15 12 226  48.29 Lennart Nilsson - Ulla-Britt Johansson 26030 26029 Hassleholms BK
16 3 225  48.08 Lars Kryger - Torsten Bengtsson 44883 26031 Hassleholms BK
17 9 207  44.23 Inga Svensson - Bertil Svensson 80337 80338 Bjarnums BK
18 11 191  40.81 Rolf Svensson - Marie-Louise Lilja 26039 30601 Hassleholms BK
19 10 165 35.26 Monica Hassel - Per-Arne Andersson 52710 52707 Hassleholms BK
20 13 162  34.62 Margit Tallberg - Elsa Ohlsson 30623 30602 Hassleholms BK
1 & EKKn9 Bésta kontrakt 2 482 Basta kontrakt 3 4 D76 Bésta kontrakt
Nord v D7 3NT N =400 Ost vK4 24 O =-110 Syd vE10976 74 S =1510
Ingen + ED9832 NS ¢ 754 ov ¢ EK
&D & ¢ v & NT #EKKN762 & ¢ v & NT #EK10 & ¢ v & NT
a74 4D108653 N 7 105 6 9 4 K976 4 Knl053 N85657 442 41085 N 1111101312
vK8632 vE54 S 7 105 6 8 vKn2 v E1093 S85657 v D85 v KKn32 S 1111101312
+Kn ¢ 107 06 3774 ¢+ E1083 ¢ KD2 058785 + Kno876 ¢ 104 022301
&#EK654 #103 V63774 #1085 «&D4 V58785 #765 #Kn432 V22301
a2 4 ED4 & EKKn93
v Kn109 vD8765 va
¢ K654 + Kn96 + D532
#Kn9872 #93 D98
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
18 7 3v V-3 *0Q 150 180 00| 4 12 2NV-3 A 150 170 10|14 2 6NN+1 48 1020 18.0 0.0
2 6 4¢ N= &T 130 16.0 20(17 5 2v O0-3 &9 150 170 10|11 12 64 S+1 vQ 1010 16.0 20
4 12 34 0-1 +K 50 140 40| 2 6 340-1 «9 50 120 6.0 1 19 6NN= v2 990 120 6.0
9 15 5¢ N-1 vA -50 8.0 10.0(10 11 2v O-1 43 50 120 6.0|15 10 6NS= +6 990 120 6.0
10 11 5¢ S-1 vA -50 80 10.0(16 3 2v0O-1 &9 50 120 6.0({18 8 6NN= v] 990 120 6.0
14 1 5¢ N-1 vA -50 8.0 100 8 20 24 V= *A -110 70 11.0| 5 13 64 S= +8 980 6.0 12.0
16 3 5¢ N-1 &T -50 8.0 10.0(18 7 24 V= A -110 7.0 11.0|17 6 64 S= +9 980 6.0 12.0
17 5 5¢ N-1 vA -50 8.0 100(14 1 24V+1l K -140 40 140(20 9 64 S= +8 980 6.0 12.0
8 20 24 N-2 vA -100 2.0 16.0|13 19 24 N-2 +K -200 20 16.0| 3 7 7NN-1 aT -50 2.0 16.0
13 19 2v V= ¢A -110 0.0 180(| 9 15 3v S-3 ¢A -300 0.0 180 4 16 6v N-2 *T -100 0.0 18.0
4 485 Bésta kontrakt 5 « ED2 Bésta kontrakt 6 & K95 Bésta kontrakt
Vast vD108752 24 V =-110 Nord v EDKn2 6v N =1430 Ost vE108 3NT S =400
Alla ¢54 NS ¢ E7 ov + D97
#E87 & ¢ v & NT #D985 & ¢ v & NT #E964 & ¢ v & NT
410962 &KD43 N46 845 41064 4 K9873 N 108 127 11 4 D764 & Kn82 N889 709
vKn64 vE9 S 56846 vK109 v6 S 107 116 11 vKn9432 vD S88979
+DKn92 ¢E3 087585 ¢ Knl04 ¢ D6532 025152 ¢+ E6 ¢ Kn854 O5 4 45 4
#K10 #D9652 V87 485 #10764 #EKn V25152 «D10 #KKn752 V54464
& EKn7 & Kn5 4 E103
v K3 v 87543 v K765
+ K10876 + K98 ¢ K1032
#Kn43 *K32 «83
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
5 13 2NV -4 v5 400 180 00| 7 17 4vy N+1 ¢5 650 16.0 20|20 10 2v V-3 *7 300 18.0 0.0
11 12 34 V-2 +5 200 150 30|18 9 4v S+l T 650 16.0 20| 4 8 INN+3 vQ 180 16.0 2.0
14 2 3a4V-2 +5 200 150 3.0(20 10 4v S+1 «4 650 16.0 20|14 3 INS+2 v4 150 140 40
18 8 24 O0-1 vK 100 120 60| 4 8 3NN+1 «3 630 120 6.0 7 17 2NN= »5 120 11.0 7.0
20 9 14 0= vK -80 10.0 8.0(15 11 4v S= aT 620 100 80|12 13 2NN= *7 120 11.0 7.0
1 19 24 0= *7 -110 6.0 12.0(19 2 2y N+4 &A 230 80 100 6 1 1v S+1 #Q 110 8.0 10.0
15 10 24 O= *7 -110 6.0 12.0(12 13 2¢vy N+3 &A 200 5.0 13.0|15 11 INN-1 »5 -50 4.0 140
17 6 14 O+1 ¢K -110 6.0 12.0|16 5 2¢vy N+3 8 200 50 13.0|18 9 2+ S-1 46 -50 40 140
4 16 24 O+1 6 -140 20 160 6 1 2NN+2 43 180 20 16.0(19 2 INN-1 »7 -50 4.0 140
3 7 2¢S-2 &K -200 0.0 180(14 3 INN+2 &7 150 0.0 180(16 5 2NN-3 »7 -150 0.0 18.0
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7 4 Kn4 Basta kontrakt 8 4 EK9754 Basta kontrakt 9 4 K9632 Basta kontrakt
Syd v KKn9 5¢ SD-2-500 Vast v Kn1042 34 N =140 Nord vD73 4v N =420
Alla + ED5432 Ingen +E10 ov + Kn6
«107 & ¢ v & NT *E & ¢ v & NT *862 & ¢ v & NT
492 « EKD765 N3 97 36 «D3 «Kn108 N56 897 «EKN10 4D74 N 6 8 108 7
vD852 v104 S$39736 v 95 v ED86 S568 97 v92 v Kn108 S 6 8 108 7
+ K106 - O 103 5 104 ¢ KD8532 ¢ Kn 086 445 +974 ¢+ E1085 065345
#8643 #EKN952 V 104 5 107 *K102 #D9865 V86445 #KDKn97 #1053 V65345
41083 462 « 85
vE763 vK73 v EK654
+ Kn987 49764 + KD32
*KD #Kn743 *E4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 6 3¢ N+1 &K 130 180 0013 1 24 N+2 ¢J 170 180 00| 6 10 3NS= &K 400 180 0.0
11 20 3¢ N= oK 110 160 20| 7 2 34 N= +J 140 13.0 5017 9 2vS+2 aA 170 16.0 20
19 3 4¢ N-1  4A -100 140 4.0|11 20 24 N+1  +J 140 13.0 50| 8 3 2¢vS+1 aA 140 10.0 8.0
10 18 24 O+2 o7 -170 100 8.0|17 8 24 N+1 ¢J 140 13.0 5012 20 2¢v S+1 #K 140 100 8.0
14 4 24 O+2 K -170 100 8.0|19 3 34 N= +J 140 13.0 5015 13 2¢v S+1 %9 140 10.0 8.0
15 12 24 O+2 &K -170 100 80| 5 9 24 N= +J 110 50 13.0|16 7 2vS+1 &K 140 10.0 8.0
5 9 44 0= +8 -620 3.0 150(14 4 24 N= +J 110 50 13.0|18 11 2v S+1 &A 140 100 8.0
7 2 44 0= vA -620 3.0 15015 12 24 N= +J 110 50 13.0| 5 14 2v S= *K 110 4.0 14.0
13 1 44 0= +J -620 30 150|16 6 24 N= +J 110 50 130| 1 2 4vS-1 &K -50 1.0 17.0
17 8 44 O= &K -620 3.0 15010 18 44 N-1  ¢J -50 0.0 18019 4 4vS-1 #K -50 1.0 17.0
10 10 Bésta kontrakt 11 s K4 Bésta kontrakt 12 & K72 Bésta kontrakt
Ost v KKn105 44 O D-2500 Syd v 8754 6NT S =990 Vast vE75 4v N =620
Alla + KD10943 Ingen ¢ EKDKn NS ¢ EDKn42
*76 & ¢ v & NT *K84 & ¢ v & NT »D2 & ¢ v & NT
4D98764 &K3 N 4 10105 5 4107653 4 EKn98 N 1212129 12 «4ED5 4Kn843 N6 9 106 8
v D92 v74 S 4 10105 5 vD3 v 1092 S 1212129 12 vKD42 v3 S 6 9 106 8
+85 ¢+ E6 0833838 4832 ¢ 975 011141 4983 765 06 436 3
#Kn4 #EK108532 V 8 3 3 8 8 #D52 #963 viiil41 #1054 #EKN986 V64364
# EKn52 D2 #1096
v E863 v EKKn6 v Kn10986
¢ Kn72 + 1064 ¢ K10
«D9 #EKn107 *K73
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng
16 7 44DV-4 ¢K 1100 180 0.0]|20 13 6NS= 3 990 180 00| 7 11 INN+2 6 150 180 0.0
15 13 44 V-3 +¢+K 300 150 3.0(18 12 3NN+3 8 490 16.0 2.0(17 10 2v N+1 #A 140 160 20
18 11 54 0-3  ¢J 300 150 30| 5 19 3NS+2 a5 460 130 50| 2 3 2NN= *8 120 120 6.0
12 20 44 V-2 v5 200 110 70| 7 11 3NS+2 &3 460 130 50|16 8 INN+1 6 120 120 6.0
17 9 540-2 4A 200 110 70| 2 3 4v S+l o7 450 8.0 10.0|18 12 2NN= *6 120 120 6.0
6 10 3v S= *4 140 70 11.0|14 6 5vS= *7 450 8.0 100| 1 15 2¢ N+1 3 110 70 11.0
19 4 3v N= oK 140 7.0 11.0|17 10 4v S+1 43 450 8.0 10.0|20 13 3¢ N= *A 110 70 11.0
1 2 4¢ N= *A 130 40 140 9 4 3NS+1 3 430 40 140| 5 19 3v N-1  #A -100 2.0 16.0
5 14 3¢ N= *K 110 20 16.0| 1 15 4v N= s A 420 20 16.0| 9 4 4v N-1 #A -100 2.0 16.0
8 3 440-1 ¢J 100 0.0 18016 8 6Yy S-1 &7 -50 0.0 180(14 6 4y N-1 8 -100 20 16.0
13 & E532 Basta kontrakt 14 4 D962 Basta kontrakt 15 464 Basta kontrakt
Nord v K9743 64 N =1370 Ost v84 3v O =-140 Syd v ED10952 54 VD-1100
Alla +D Ingen + 642 NS + Kn4
*KD7 & ¢ v o NT #K1086 & ¢ v & NT #E93 ¢ v & NT
«KD107 «Kn9 N 127 111010 K43 » 1085 N8 4476 «KKn97 4ED108532 N 8 9 113 6
vKn82 vD105 S 127 111010 vEKn10 vKD932 S84476 v84 v K7 S 89 113 6
+ K86 ¢1097543 O 1 5 2 3 2 ¢ K103 ¢ DKn95 058956 ¢ K10652 ¢ - 04 42 107
#Kn86  #54 V15232 &7542 &D V58956 #106 «D752 V442 107
» 864 & EKn7 a-
vEG6 v 765 v Kn63
¢ EKn2 + E87 + ED9873
#E10932 #EKn93 #KKn84
Par  Kontr ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 7 3NS+3 +¢6 690 180 00|15 2 INS+1 &7 120 180 00| 8 14 5v N= & A 650 180 0.0
3 4 3NS+2 46 660 150 3.0(17 11 14S+1 vT 90 150 3.0(12 17 4y N= s A 620 16.0 20
17 11 3NS+2 +6 660 150 30|19 6 INS= 3 90 150 30| 9 13 54DO-1 ¥J 100 140 4.0
19 6 4vy N+1 &5 650 120 6.0|10 5 3#S-1 &3 50 120 6.0(19 7 54 0-1 A 50 120 6.0
18 13 3NN+1 T 630 100 80|18 13 INS-2 vT -100 100 80| 4 5 340-= ¢ A -140 8.0 10.0
20 1 4v N= +3 620 8.0 100 8 12 2v O+1 #A -140 50 13.0|16 10 34 O= v] -140 8.0 10.0
15 2 3NS= a7 600 6.0 120| 9 16 3v O = a7 -140 50 13.0|20 2 34 0= v3 -140 8.0 10.0
8 12 24 N+1 3 140 40 140(14 7 3v0O= v7 -140 50 13.0|15 3 34 O+l +A -170 4.0 14.0
9 16 4v N-2 &) -200 1.0 17.0({20 1 2¢v O+1 #A -140 50 13.0|18 1 44 0= v] -420 2.0 16.0
10 5 3vy N-2 49 -200 1.0 170 3 4 29 0O+2 #A -170 0.0 18011 6 5vDN-2 4A -500 0.0 18.0
16 & K94 Bésta kontrakt 17 « E64 Bésta kontrakt 18 #9543 Bésta kontrakt
Vast v 752 ANTND-1-100 |Nord v KD5 24 O =-110 Ost v 9753 5¢ O =-400
ov + 1054 Ingen + Kn632 NS 41063
#10874 & ¢ v & NT #D53 & ¢ v o NT *K3 & ¢ v o NT
» Kn86 «ED10732 N 3 3 103 9 4D1083 4K72 N6 4645 4 Kn6 «E102 N12974
vKn v 83 S 3 3 103 7 vKnl08 vE97 S6 4645 v- v K42 S12974
¢ KDKn9 ¢ 3 O 106 3 104 ¢ K975 ¢ D108 078787 ¢ ED9742 ¢ KKn5 O 11114 5 8
#Kn962  #KD53 VvV 106 3 104 *Kn2 #E964 V78787 #E9652 #D1087 V 11113 5 7
45 # Kn95 « KD87
v EKD10964 v 6432 v EDKn1086
¢ E872 ¢E4 +8
*E «K1087 +Kn4
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
4 5 4v S= +J 420 160 20|10 1 24 V-2 v5 100 18.0 0.0(16 11 4vDS= #A 790 18.0 0.0
16 10 4v S= 46 420 160 20| 5 6 24V-1 v5 50 150 3.0|17 13 5¢ V-3 v9 150 16.0 20
20 2 4v S= 46 420 16.0 20|17 13 24 V-1 &3 50 150 30| 9 14 64DO-1 v5 100 140 4.0
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12 17 44 O-1 #A 100 120 6.0| 2 18 2v S-1 &3 -50 10.0 8.0 3 20 4vS-1 ¢A -100 120 6.0
8 14 5v S-1 46 -50 70 11.0| 4 15 INS-1 43 -50 100 80| 4 15 3¢ V+2 v7 -150 8.0 10.0
9 13 5v S-1 46 -50 70 11016 11 INS-1 43 -50 100 80| 5 6 4¢ V+1l v5 -150 8.0 10.0
15 3 5vS-1 ¢+ K -50 70 11.0| 3 20 2¢ V= vK -90 6.0 120|19 8 4 0+1 oK -150 8.0 10.0
19 7 4v S-1 &) -50 70 11012 7 INS-2 3 -100 40 140(10 1 2NO+2 ©vA -180 4.0 140
18 1 44 0= *A -620 20 16.0| 9 14 24 V= ¢3 -110 1.0 17.0(12 7 5¢vS-3 #A -300 2.0 16.0
11 6 44DO= A -790 0.0 18019 8 2a4V= vK -110 1.0 170 2 18 5vDS-2 +A -500 0.0 18.0
19 4 87652 Basta kontrakt 20 «Kn Basta kontrakt 21 aE42 Basta kontrakt
Syd v8 6NTV =-1440 |Vast v EKn 4# N =130 Nord v 632 ANT N =630
oV + 87 Alla ¢ EKn84 NS + K1065
#E10985 & ¢ v & NT #K108542 & ¢ v & NT #Kn108 & ¢ v & NT
4E109 «K N33161 4E10542 4983 N 108 5 6 7 » 985 4 D76 N 117 9 1010
v642 vEKDKn97 S 3 3 16 1 v 1087543 v KD9 S 108 5 6 7 vK1074 vD8 S 117 101010
¢ EK52 +D10 O 109 117 12 + 96 ¢ D1032 024775 ¢ED92 #Kn8743 026333
#KKn7 #D632 VvV 109 116 12 *- #DKn3 V24775 #D5 #743 V26333
4 DKn43 4 KD76 « KKn103
v 1053 v62 v EKn95
¢ Kn9643 ¢ K75 ¢-
&4 #E976 #EK962
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
515 6v V-1 #A 100 160 20|14 10 3NN+2 ¢9 660 180 00| 2 17 3NN+2 &7 660 18.0 0.0
17 1 6v0O-1 &4 100 16.0 20| 5 15 3NN+1 2 630 150 3.0|13 16 3NS= *2 600 160 20
20 4 6y V-1 #A 100 16.0 20(12 16 SNN+1 2 630 150 3.0(12 3 34 S+1 +¢A 170 130 5.0
11 2 4v O+1 #4 -650 110 70|11 2 3NN-= v9 600 120 6.0|14 11 24 S+2 v4 170 13.0 5.0
18 3 4v O+1 #4 650 110 7.0|18 3 4v V-3 4] 300 100 80| 1 9 34S+2 v4 150 100 8.0
12 16 4v V+2 #A -680 8.0 100(19 9 3&#N+2 3 150 80 100(20 5 2#4S+2 v7 130 8.0 10.0
14 10 3NV +3 &5 -690 6.0 120| 6 7 2#N+2 vK 130 6.0 120|118 4 INN+1 o7 120 6.0 12.0
6 7 6NV= *A -1440 3.0 15017 1 2v V= s -110 40 140 7 8 3#S= *A 110 3.0 15.0
19 9 6NV= *A -1440 3.0 150|120 4 44 S-3 v3 -300 20 16.0|15 6 24 S= v6 110 3.0 150
13 8 6v O+1 A -1460 0.0 18013 8 44S-4 ¢9 -400 0.0 18.0(10 19 1v S= 49 80 0.0 18.0
22 aE4 Basta kontrakt 23 a7 Basta kontrakt 24 4 EDKn3 Basta kontrakt
Ost vD107432 5¢v S =450 Syd v KKn2 5NT S =660 Vast v 92 6NT S =990
ov + Kn83 Alla + KDKn62 Ingen + D742
«D7 & ¢ v &4 NT #DKn108 & ¢ v & NT »K87 & ¢ v & NT
D765 & KKn92 N3 9 113 8 «DKn982 453 N 10119 8 11 4874 4 K106 N 1010111111
v 965 v8 S 39 113 8 vE9 v 106543 S 10119 8 11 vKn86 v543 S 1010121212
*7 ¢ K952 0103 1 91 + 875 +109 022342 ¢ K109 #Kn853 033111
#KKn1043 #E952 vV 101191 #943 #E752 V22342 #10543 #Kn62 vi3is3ilill1l
41083 « EK1064 4952
v EKKn v D87 v EKD107
¢ ED1064 ¢ E43 ¢ E6
*86 *K6 #ED9
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 11 4v N+1 &2 450 180 00| 2 10 3NN+2 v6 660 130 50|15 7 6NS= +9 990 180 0.0
1 9 4vN-= 49 420 160 20| 3 17 3NN+2 &5 660 130 50|20 6 6v S= +9 980 160 20
7 8 2vN+3 &A 200 140 40 8 9 3NN+2 3 660 130 50|13 4 4vS+2 3 480 140 4.0
2 17 2v N+2 49 170 100 80(16 1 3NS+2 49 660 13.0 50| 5 18 3NS+2 &T 460 110 7.0
18 4 3v N+1 #A 170 10.0 8.0(19 11 3NN+2 &2 660 13.0 50(16 1 3NN+2 3 460 110 7.0
20 5 3v N+1 49 170 100 80(20 6 3NS+2 8 660 130 50| 2 10 3NS+1 9 430 7.0 11.0
15 6 340-1 +A 100 6.0 12.0| 5 18 3NS+1 «Q 630 3.0 150 3 17 3NS+1 43 430 70 11.0
10 19 4v N-1  #A -50 20 16.0|13 4 3NN+1 &2 630 3.0 150(19 11 3vy S+3 +9 230 4.0 14.0
12 3 4v N-1  #A -50 20 16.0|14 12 3NN+1 ¢3 630 30 150| 8 9 64 N-1 ¢5 -50 1.0 17.0
13 16 4v N-1  #A -50 20 16.0|15 7 3NS+1 «Q 630 3.0 15014 12 6NN-1 +3 -50 1.0 17.0
25 a5 Bésta kontrakt 26 49654 Bésta kontrakt
Nord vKD103 34 N =140 Ost v543 34 O =-140
ov + EK1087 Alla ¢+E3
#D105 & ¢ v & NT #Kn953 & ¢ v & NT
492 » KKn106 N899 938 4K10732 & DKn8 N8 2837
vEKn75 v92 $89 998 vED107 vKn $82837
¢ Kn2 ¢ D965 054435 ¢ 9752 ¢ KDKn84 O 4 105 9 6
#KKn987 #632 V54445 - #10762 V 4 105 9 6
«ED8743 «E
v 864 v K9862
+43 +106
»E4 #EKD84
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
20 7 24 S+1 &7 140 180 00|16 2 4a4 V-2 ¢ A 200 180 0.0
1 5 2NN= *2 120 160 20| 9 10 1#S+3 ©vA 130 160 20
3 11 3NN-1 &6 50 11.0 7.0(15 8 1lvy S+1 a2 110 130 5.0
6 18 3NN-1 5 -50 11.0 7.0({17 4 2vS= *9 110 130 5.0
13 14 2v N-1 %6 50 11.0 7.0( 3 11 14 S-1 a2 -100 9.0 9.0
19 12 3NN-1 8 -50 11.0 7.0( 6 18 3#S-1 +9 -100 9.0 9.0
9 10 3NN-2 6 -100 50 13019 12 3¢ O= & A -110 6.0 12.0
17 4 3NN-2 46 -100 50 13.0|13 14 34 V+1 &3 -170 3.0 15.0
15 8 3NN-3 +¢5 -150 1.0 17.0({20 7 24 V+2 v5 -170 3.0 150
16 2 3NS-3 *9 -150 1.0 170 1 5 3vsS-2 *4 -200 0.0 18.0
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